
kamil.ausficir
Razítko



 

 

 

Werkstatttisch im 

Detail 

Kleinere Schublade im 

Detail 

Größere Schublade 

im Detail 

 Komponente Maße in mm (L x B x T) Anza

hl 

Schubladenrückentei

l 

Schubladenboden 

Seitenwand (L) 

Seitenwand (R) 

Schubladenstirnseite 

Deckplatte 1 

Griff 

Kleinerer 

Schubladenkorpus 

Deckplatte 2 

Tischseitenwand 1 

Tischseitenwand 2 

Schubladenauszug 

Trennplatte 1 

Trennplatte 2 

Trennplatte 3 

Regalplatte 

Arbeitsplatte 

Verstellbarer Fuß 

Beschlag 

Tischrückwand 

30 

kamil.ausficir
Razítko

kamil.ausficir
Razítko



 

 

 

M5x8 (4x) 

M5x8 (4x) 

5x16 (2x) 

 

kamil.ausficir
Razítko



 

 

 

5x16 (2x) 

M5x8 (4x) 

  

M5x8 (14x) 

 
M5x8 (8x) 

M5x8 (8x) 

M5x8 (18x) 

 

M5x8 (12x) 



 

 

 

M5x8 (8x) 

 

M5x8 (12x) 



 

 

 

5x16 (10x) 



 

 

 

 

2x 

 

5x16 (4x) 

 

M5x8 (14x) 



 

 

 

 

M5x6 (60x) 



 

 

 


